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Answer all the questions in the space provided.

1. Identify which two of the following are characteristics of Public Limited Companies (PLCs). [2]

Tick (v) two boxes only.

Owned by the government

Unlimited liability

Minimum of 2 owners

v

Shares are sold on the
stock exchange

v

2. Identify which two of the following are advantages of international trade to UK businesses. [2]

Tick (/) two boxes only.

High transportation costs

Increased sales

J

New markets

Y

Language barriers
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Below are a number of business terms and phrases.

Profit and loss
Job Turnover Sccount
Cost of sales Flow (Mass)
-
Quantitative data Cash-flow forecast Qualitative data

Identify which of the terms above best describes each of the following:

(@) The method of production that produces many identical items.

o Flow (malS).

(b) The money a business makes from sales.

& Tenonr o

(c) Information that is numerical and often shown in graphs or tables.

SR @ VYN P 0711V S /(71 {7 S—

(d) A prediction of the money going in and out of a business over a period of time.

Codh-Fln, fore sl

(1]

(1

[1]‘

(11|
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Examim
4. Bertie's Berry Crunch is a breakfast cereal that is only sold in UK supermarkets. It has been o0y
available since 2011. Due to the quality of the ingredients, Bertie’s Berry Crunch is sold at a
high price. The graph below shows the product life-cycle of Bertie’s Berry Crunch.
w
ko)
0
N
| | I | I | I | |
2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021 2022
(@) Using the graph above, identify which stage of the product life-cycle Bertie's Berry
Crunch is in during;
D) 2015; onammsnsnasms - 1]
) R s s o - M
(b) Outline two extension strategies that Bertie’s Berry Crunch could adopt to improve
sales. [4]
1o (e (o) eufey feve . ProductS. . n. Lh. (eeul

(Ym u.'.ﬂf!..sf ................................................ e
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6. Saundersfoot Sheds, based in Pembrokeshire, is a business that designs and builds garden
sheds for its customers. The business has one shop in Saundersfoot and will only deliver in
Pembrokeshire.

(a) Identify which one of the following best describes the scale of operation of Saundersfoot

Sheds. (1
Tick (V) one box only.
Local \/
National
Global

Below is a graph showing the number of sheds sold per month by Saundersfoot Sheds.

Number of sheds sold per month by Saundersfoot Sheds
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(b) (i) Describe the trend of sales for Saundersfoot Sheds shown in the graph above. [1]

A Inlise o dc&(.tcia}w.,t.f.:c.,@,v\,.u

Saundersfoot Sheds has earned £75 330 revenue from the sales of sheds from January
to September.

(i) Calculate the average selling price per shed. [2]

BT+ 26 ¥ 26 LUl £ 26 428

B30 = 2 3

05

© WJEC CBAC Ltd (3510U10-1) Turn over.



6

7. Jane Miller is a fitness instructor in a gym called Fit and Healthy in Llanelli, Wales. Jane has
worked at Fit and Healthy Gym since it opened in 2012 but she hopes to start up her own gym
in the local area in the near future. Jane is aware of the risks and rewards of starting up a
business.

(@) Suggest and explain one risk and one reward to entrepreneurs of starting a business.

[4)
ik A (K For  Shubing. ue. b bS5
U\(A( Lh buMS U/?A(U Ne oltuwb Lhrony h Lo
,l’\(,(; b ot S SQUSSAul oS, Uu
Moy, N0t Lo L @houj« [hnig Lum) Mo
Llw ‘DuSI/\L

Reward: & UL (Ll S “\‘A( LLL bé&jl%s

whee - Lun ML cololy Moy (e
Bha g et (/Lvh baSS .............. . Yean
bl buinds edeitiv

If Jane was to start-up a business she would be able to get help and advice from different
organisations.

(b) Name one organisation that may help an entrepreneur start-up a business. 1]
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Jane has been looking into sites where she may wish to set up her gym. Jane is aware of an
empty unit that is available to rent in the same retail park as Fit and Healthy Gym, where she
currently works. A plan of the retail park is shown below.

() With specific reference to the retail park plan, analyse the suitability of the selected site

for Jane to set up a gym.

: (6]
........... Oas: .,Huvf@. S gym I w Gra Pk oSt

Lk hut fO/ (:/J- A &f()r o
b@”‘y b‘/ (4/5((&/5’166 KA 5/»,(,[ ...... ar el

........... W....Dgople.... &5@5&1 Wk bay
..... [Ll0 Cna LLao hot (o ge  fo b

lmw O il dLS...... ﬁc.u(,}, ........... ot Sudbuble
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Jane has carried out market research to help identify and understand her potential customers.

(d) Suggest a reason why it is important for a business to identify and understand its
potential customers. 1]

..... 15 Glhually Yin o lome wa bo P ue  bha
batord usu Lt

After much consideration, Jane has decided to quit her job and borrow £50000 from the bank

to set up a new gym in the retail park in Llanelli. Jane has been approached by co-workers

and friends about setting up the business with them rather than by herself. Jane feels that the

business has a good chance of succeeding and is unsure as to which type of ownership she
should choose for her new business.

(e) Advise Jane as to which type of business ownership she should choose to set up the
gym. (8]

celbini.
4
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8. Aberavon Car Centre is a used car sales business that has been open for more than 45 years. o

Itis a small-scale car business with only one showroom and two owners, who are also the
only workers. Aberavon Car Centre is based in Port Talbot, South Wales and sells used cars
in a range of makes and models. The cars the business sells are all under 5 years old and the
average price is £15000 per car. The business slogan is “The home of quality cars”.

(a) Describe what Aberavon Car Centre customers expect from a quality car. [11

........... Che o bo Be gyl

(b) Identify one way a business achieves quality. [1]

(c) Describe how Aberavon Car Centre could use Information Technology (IT) packages to
help in its workplace. 4

............ A&f\/(ﬂ‘ U7 e (,..6/\(}('; Aan u}b‘n&rmul\l’\thij
W(;L‘s&e}&j ...... (o 4 cn Mo fhe (S L/eihl uan.
........ S 1l Gl W6 e 1C [0 Pt ALAS.. otk

o nfeuse (G Sulef. ikh ITbuchy§
by okees moy Find (6 g s g ok chw

(d) (i) Identify two stages in the sales process. [2]

o Usde the Sula
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(i) Describe how the sales process is used by Aberavon Car Centre to sell high value =
products (2]
............. My e b SUlS ﬁ/dw _
/’VI(L: LLL L“jé(/ud Fial . /Amc e tna
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A

Aberavon Car Centre has many competitors, for example other small-scale used car retailers
and large-scale car retailers such as Trade Centre Wales. Trade Centre Wales has five large
showrooms, employs over 500 people and made profits of over £20.4 million in 2019.

(e) Discuss the pricing strategies that Aberavon Car Centre might use to increase sales.
[10]
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9. Seaside Sweets is a small traditional sweet shop in Bangor, North Wales. Seaside Sweets is )

owned by Rashid Khan, a sole trader, who currently employs two part-time workers to help
him out during busy times. Below is a monthly break-even chart for Seaside Sweets.

Seaside Sweets’ monthly break-even chart
1600

1400 —
1200 Atal revenue
1000 —

800 = : Loldl (<5 [ J
600 / /"’E"‘
400 / Fixed costs

200 =
o‘%

1 I 1 I 1
0 100 200 300 400 500 600 700 800
Bags of sweets

Cost/Revenue (£)

Seaside Sweets currently pays its supplier £1 per bag.

§ovo = oo
(@) On the break-even chart above, draw the total cost line for Seaside Sweets. 2]
(b) Identify how many bags of sweets Seaside Sweets must sell to break-even. (1

The supplier for Seaside Sweets is increasing the cost from £1 per bag to £1.50 per bag.

(c) Identify the impact that the change in costs may have on Seaside Sweets. [1]

,,,,,, St SI SpwtelS Sull bhe  Shabls "o £2..G4 b

S buw Wil nl} b Mok hb\‘ | (A /Qaj
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One of the part-time workers has decided to leave the sweet shop, so Rashid will need to
recruit a new worker to fill the vacancy at Seaside Sweets. The worker will be expected to
serve customers and re-stock shelves,

(d) Explain how Rashid may use the recruitment process to help him employ a new
part-time worker. (6]

N 7/ N S W TV SN CL VU €/ 07 TS LA Y 2 1)
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o 1\4/ bo..llo... Uhit .. [\bl\/ ..... old Ko A(,S ......... bo. ..
— U e p el GO ek puSh. Olprieie
e et o DO (B /()uujl,ﬂ/ ...... So—
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Rashid has selected a new part-time worker. The new worker will need to be trained. o

(e) With reference to Seaside Sweets, outline one suitable method that Rashid might use to |
train his new part-time worker. [2] |

SRS kS My AL B put Cerker G0 Job Steum
Uw ......... oller L. mus So L. an (M Lkt s ap

hw, (;o scocé (zﬁa SGlF Ca b o ,.sw C Sthirs (-

Rashid is unsure as to whether he should try to grow his business or to remain small.
(f) Assess the reasons why Rashid might grow the business or choose to remain small. [8]
@.\Sl A n\/s’h(, @\Lk (s /\gucp G Bdiilf
Cnavll WS e 1S tleal mdty . prel o
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10. Beds UK sells beds and mattresses across the UK. Beds UK has shops in Cardiff (Wales),
Birmingham (England), Manchester (England) and Edinburgh (Scotland) and its head office is
in London (England). Each shop has a manager and its own sales team to try to make sales to
the public. Beds UK only distributes its products from its shops.

(@) The position of a manager is an important job role in a business. |dentify one
characteristic of a managerial job role.

............. bﬁmyﬁw lo  (ommaniete C.Lh  olb C LoftaS

(]

Beds UK has a regional (geographical) organisation structure shown in the diagram below:

Beds UK
Head Office (London)

I
l | l l
Cardiff Birmingham Manchester Edinburgh
Shop Shop Shop Shop

(b) With reference to the organisation structure shown above, describe one problem with
the type of organisational structure used by Beds UK.

. [
.......... Thy Gt hia Shf I Ceptlel (lief
M vk Tkt Shop [ el G Coudy

2]

Jasper is part of the sales team at the Cardiff shop for Beds UK and earns 12% commission
on any sales he makes.

(c) Jasper sells products to the value of £4890 in a month. Calculate how much

commission he earns, in that month. 1]
\ -~
..................... Le &0 X Ry >Se0. |
......................................... 5 Sg6-%  Chil P
Commission is an example of a financial method of motivation.
(d) Identify two benefits to a business of a motivated workforce. [2]

o Mua ket N Lok

2, MUEW&UMM ad.. \ Lk Bl S
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Profit and Loss Accounts 2021-2022

Below are the profit and loss accounts for Beds UK for 2021 and 2022.

2021 2022
Sales £5020100 £4800000
Cost of Sales £2008040 £2160000
Gross Profit £3012060 £2640000
| Rent £520000 £535000
1 Business Rates £234000 £240750
Wages (Salary and Commission) £1712412 £1686000
Other Expenses £43056 £45100
Total Expenses £2509468 £2506850
Net Profit £502592 £133150
(e) Analyse the financial performance of Beds UK over the two years. [4]

O\ e bo g o 2020 bk buing
Cheh oGy SWLS(Fel Gu mwe g (i

________ Mukly $S02,5.02 el protde My hoet? |n. 207
b g.ufffxs.@ _____ (ool & MaSer &'Lff”'f‘ ....... Mukiny 123,/

MO Dot Lbiun oS 38N debiul g e |

Uhe SalS. Uepruadig . oo (<Sb 05 Sulel | nLadiny -
) onM ___________ ourrall ke bufiess  QidAe Ava [hek
......... Wk 0w Lew  pul
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Beds UK has decided to close the Edinburgh (Scotland) shop. This decision will affect
stakeholders such as the owners, the workers, customers and suppliers.

(f) Consider how stakeholders may be affected by the decision to close the Edinburgh
shop. (1]

SC(IJ\{ holtS . Gube  Cltetf 5‘7 e DuSnlf
O LR m bt ﬁuﬁof /. C&Lu,wu Ci Slat
Cle gtis . bucsh.. Shop Sluke  bolbrs “ong, (ontor . e
e mudkol. o (ouln [05e & (. or
Moy fom. e Sy (1651 bome (e S

My Guin s &S, ke busuff Uy, Ry hawy
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